A PROFESSIONAL EXAMINATION BOARD
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10th Mar 2019 2:30 PM

Topic:- Child Development & Pedagogy (CDP)

1) Which of the following is not a level of mental retardation? / ﬁ'ﬂﬁ'@a ﬁ ﬁ ﬂﬁ"_{ m Tl'i;"aT DT &Y :l'a%"
1. Profound / ¥

2. Severe / THR

3. Savant / fagM

4. Mild / =g

Correct Answer :-

o Savant/ a§:|

2) Which of the following is least true about the process of growth? / ﬁ'ﬂﬁf@a #q -9 q@ @1 ufspar & aR # 99 FH A %?
1. It represents change in a person’s quantifiable characteristics. / g wfed o AETdS faRvarst & uRads &) uelRia s %I
2. It is necessary for aspects of development. / Jg o & U?«‘ﬁ * ﬁ'l'q HAGh %I

3. It can only be assessed. / SHU®DI Had THT [T oI Jobd] %I
4. It is not a continuous process. /WWWW :Ié)f%I

Correct Answer :-

« It can only be assessed. / SH®DI HId 3MHa T ST bl %I

3) CANCELLED

The system of society wherein primary power, moral authority, social privilege and control of property are dominated by males is known as [/ HHS

1. Masculinity / Y¥%cd
2. Patrilineal /fﬁ?ﬁ?ﬁq
3. Patriarchy/ﬁ?ﬁ?ﬂ
4. Matriarchy / HIqd T

Correct Answer :-

« Patriarchy / T

4) vocational guidance primarily helps students to: / TGS mh 81 4 A oE o T | HGG PIdl %:
1. Choose a life partner/ U Stag et & aa |

2. Choose an occupation/ U TR FTgTH

3. Solve a personal problem/ Udh AT T & JETeE o

4. Select subjects/ fawgl w1 T B A

Correct Answer :-

« Choose an occupation/ Tdh T HTEH

5) When twins are born from separate zygotes, they are called: / STd \_FJ,GHT T S-S T’Fﬁ (ﬂvmﬁaﬂ) k| aﬂT Eﬁ% ?, ar 3% ‘Dol SITdl %z
1. Identical twins / Gﬂé@ﬁaﬂfﬁ?‘:{

2. Siblings /ﬁﬁﬂ%‘i‘ﬂ

3. Spouses / W3

4. Fraternal twins /mm



Correct Answer :-

« Fraternal twins /W@T\E{

6) When a teacher finds diversity in the classroom, it is better that s/he/ STd T ﬁT&‘ﬁ? BEIT ¥ fafaerar urar %, ar I’ aﬂ?ﬂ' % f& ds:
1. Divides the class into small groups/ P&l PIBIC ?IH\B;T T fauora ®1 |

2. Categorizes the pupils according to diversity/ fafaeuar & SIJAR faenfial &1 ajﬁﬁp—cf B

3. Combines all of them together/ $1 Tt ®1 Th AT i |

4. Sends the pupils from diverse groups out of the class/ faft ﬂ'{ﬁﬁ & faenfial &1 FeT Y dgX i

Correct Answer :-

« Combines all of them together/ T gt &t Th 1Y faar |

7) An Individualized Education Plan (IEP) is: / Tep SHTRITTl fRI&IT TS (SMSSUY) B:

1. A plan created for every student in a classroom/ Tch h&T A Uds 85 & ﬁ']’Q aqu‘ ‘TEF ST

2. A subsection of the No Child Left Behind-Act/ BTg Hi eal U 71 Fe- AT 31 T IUURT|

3. A contract that must be followed as specified/ Tdh e«rg@iu Rrgest ﬁrﬁfg ¥ # Ure fosar ST QT%Q |
4. An outline for the general education teacher/ JTHII fQT&‘lT fQT&‘faﬁ & f?m T TR

Correct Answer :-

« A contract that must be followed as specified/ U 31_:1,3 o et ﬁﬁg ¥ # gre fosar ST zlT%'Q |

8) Which genetic disorder is found only in females? Cank: | \?vlﬁﬂm fdPR Faa TI'%?ITGﬁ 9T SATar %?
1. Phenylketonuria / W—tﬁw

2. Turner Syndrome / Eﬁﬁf@ﬂ

3. Down Syndrome / Wﬁl@ﬂ

4. Klinefelter Syndrome / Wf@r@ﬂ

Correct Answer :-

« Turner Syndrome / E:hﬁ@q

9) To make socialization successful, it is necessary for parents to establish as early as possible in the infant’s life. / THTSIBRT BT

Toa 1 & g, arar-Rar & e gg snazas ? 7% 3 Ry & e o DI oIeT | e WTIa HY
1. Rules / Fad!

2. Routine / f&aaf

3. Rapport / ATGHT

4. Restrictions / Afciaelf

Correct Answer :-

« Routine / feTemf

10) What animal was used in Watson’s experiment of classical conditioning? / AT A FATRID BB (ﬁﬂ'ﬂmﬂ' UTIPp ) &y o
5 SR 1 SuaT o ur?

1. Cat / foeett
2. Pigeon / hgdX
3. Dog / Pl
4. Rabbit / TR

Correct Answer :-

« Rabbit / WY



11) Children who come from homes with unfavorable parent- child relationships tend to be ./ Tor o= & rar-far ofk =t &1 ey

TSI TR__ gRE

1. Less impulsive / hH 3maft

2. Good at intellectual control / I m [ERELEINE

3. Successful in social participation / IS yrfieRt & awd
4. Intolerant of others / GERI & UfaT 3rafge

Correct Answer :-

« Intolerant of others / GERI & UfaT Srafgey

12) Learner-centered education includes: / ﬁT&ﬂ' Qﬁ-m ﬁT&‘IT o wnfae %
1. Year-end appraisal / CLEZEGE i

2. Control over learning process / ST gfdhar W

3. Control by the study program / &g PHH gRT AT

4. Disciplinary force / 3R d¢]

Correct Answer :-

« Control over learning process / 3ITETH Ufehar O fd=01

13) Learning swimming or riding a horseis ____ learning. / RTHY mg@‘mﬁ HIRRE_ 3ffermw gargl
1. Motor / e

2. Associate / FRITQTd (THIRITC)

3. Serial / Sh1He (i)

4. Problem / JHXT

Correct Answer :-

. Motor/fl <X

14) A baby appears surprised every time her mother covers her eyes and then uncovers them. What Piagetian cogmtlve concept has the baby not yet

understood that makes this game so exc1tmg"/WW3Taﬂ'%miaﬂT%Wmmm3ﬂ@ﬁ ﬁ%mmﬁ@aaﬁ%l foa
RO TS GYURT B a= 3ft do Tae 781 UraT § ) 39 A S 301 A0S S 22

1. Conservation / &[0T

2. Seriation / ShHS&T

3. Object permanence / aﬁwﬂﬁa
4. Animism / SI19aTG

Correct Answer :-

e Object permanence / I R o

15) What is the study of the smallest units of speech known as? / HTHUT (F-ﬂ?l') aﬁmaﬁ?ﬂm‘qﬁ? YT B T el Srdl %‘.’
1. Morphology / 3T&d fas=

2. Morphemes / &UH

3. Phonemes / @A

4. Phonology / @ fagm

Correct Answer :-

« Phonology / & fagm

16) Which of the following is not a type of intelligence described by Sternberg? / fFrafafaa & @ @9 a1 et grr aftfa TP YhR @1 g@ ﬁ%’
1. Logical-mathematical element / - aa

2. Experiential element / 3{FHaGI dcd



3. Componential element / UCP dcd
4. Contextual element / G&Hfg

Correct Answer :-

o Logical-mathematical element / qfhe-ToRa aa

17) The earliest manifestation of inner speech in Vygotsky’s view is o aﬁ"'ﬁiﬁ& ¥ faar & siiafve yTyor @1 T gl srftraafa
:l

1. private thought/ fon foar

2. private speech/ EEIRNEL

3. social speech/ HTHTSIS HTHOT

4. personal speech/ I HTTOT

Correct Answer :-

« private speech/ EEIRIE

18) Which of the following is not a social motive that drives behavior? / fafafeada P-4 TP I SIfiRe Qﬁ% S AdegR 3l
TaTferd BT 82

1. Achievement / SUTTSI
2. Power / TIfdd

3. Intelligence/ @

4. Affiliation / FJ¥®T

Correct Answer :-

« Intelligence/ Ej@

19) Which American psychologist developed psychological connectionism — the belief that connections are formed between perceived stimuli and

emitted responses? /mmmﬁmwmmm-wﬁm%%ww,maﬁwaﬁaﬁ?m
wfafsraraent & da s1d €1

1. Jean Piaget / S Rt

2. Francis Galton / Jrfehg TeeT

3. Edward Thorndike / TSTS YMSSH
4. Charles Spearman / e TRRAT

Correct Answer :-

« Edward Thorndike / TSdS UHSS®H

20) From Big five personality dimensions, behaviors such as speaking fluently, displaying ambition and exhibiting a high degree of intelligence is
./ S UTd SAfdRIc AT [, YRTYATE SIe-, HedThie USRid #3 3R I TR B giwwl &1 UeRiA &34 &1 qdegR
:
1. Extraversion / Eﬂ%ﬂ'@?ﬂ
2. Openness / TWfad (GhTFﬁH)
3. Conscientiousness/ FTcT(8T
4. Neuroticism / ﬁﬁw

Correct Answer :-

« Conscientiousness/ Wﬁm

21) According the Vygotsky, the following are transmitted from generation to generation, except i amﬁ?\qaﬁ & SR,

P! Bl Fafrf@d A A fidt 9o siaRa g § |
1. Beliefs / YRUMY
2. Values / HI



3. Ignorance / SRITAdI
4. Traditions / URERTY

Correct Answer :-
« Ignorance / 3{AT
22) Fraternal twins are born of from _____. /[ YTq-09< (heagln) A daraa e
1. No ovum / ﬁ%%ﬁ‘@
2. one ovum / T ST
3. two ova / &l SfSTT]
4. one sperm / Th [PTU]

Correct Answer :-

. twoova/aari?am

23) What concept denotes the belief that one can effectively produce desired outcomes in a particular area? Kaek:il sﬁmﬁﬁﬁm P e W_cﬁ%\_rﬁ
I IRy g1 & giftsa ufvoms urea w2 awar 82

1. Self-efficacy / W-YHTaHTRET
2. Self-knowledge / TH-3TT

3. Self-esteem / STH-JHTT

4. Self-conception / T-FHeh el

Correct Answer :-

« Self-efficacy / ¥-HHTAHINT

24) Brainstorming as a technique helps to improve in the learning process. / T qbie F ¥ H fER dyq (ﬁ'—r RﬁT) T uftrr Y ufspar &
Y Jga¥ T § Hag At 81

1. Skills / It

2. Language / HTHT

3. Creativity / Xd-TTHD T

4. Critical Thinking / TTg fia
Correct Answer :-

o Creativity / TITHD AT

25) Play way method of teaching has been emphasised in the scheme of the education of : / Rrgor ot @« fafy Pt Rien it g A
SR & 7

1. Naturalists / Q?fﬁﬁ'l—c&

2. Realists / TuTefarc}
3. Existentialists / 3if&iard!
4. Pragmatists / AgRATG!

Correct Answer :-

« Naturalists / E@ﬁﬁﬁﬂ

26) CANCELLED
Which of the following is a socialization agency? / fafrfadde= TP JHTSIHRUT Toixt 2

1. All of the above / Judad Taft

2. Society only / Fad TG (TfHfd)
3. School only / Had A

4. Family only / %dd GRaR

Correct Answer :-



« All of the above / SUTdd THI

27) CANCELLED

A learning style of the students of every age are affected by their /

T SU P Ol 31 U@ AR AN TP gRTyvIfaa gt 31
1. All the above / Judad Taft

2. Environment only / el ATTaR0T

3. Emotions only / Had HIaTSH

4. Sociological needs only / Had JATSTARATT ATTRIH AT

Correct Answer :-

+ Al the above / IUTa Tt

28) CANCELLED

Attribution theory is a theory proposed by: /WW (Eflﬂl!ﬂ:r uﬂﬂ) aﬁmmuﬁw@aﬁmw
1. Jean William Fritz Piaget / S faferaw ket fuamat

2. Bernard Weiner / 97118 fa7R

3. B.F. Skinner / sit. T, f&p-R

4. Abraham Maslow / 3{STgH Al

Correct Answer :-

. Bernard Weiner / §9fS fa R

29) The least effective method to attract students’ interest and attention is: / BHE P A 3R e pffad s34 & i%nz I HH YHTA! THPT
T

1. Lecture method/ SAREAT fafer

2. Role play method / Hf&eT fafe fafy
3. Discussion method / T fafdy

4. Game method / 9d fafey

Correct Answer :-

« Lecture method/ SREAM fafd

30) Deemphasizing rote learning is a part of: / SIHBITSIT ey AR f= &1 v fawr 2
1. Special needs education / foRy siazae fRiem

2. Learner-centred education /&[&ﬂ?ﬁ (?Ff'\’) aﬂaﬂ&[&ﬂ

3. Progressive education /mﬁﬁﬁ%&ﬂ

4. Interactive education /W&[&ﬂ

Correct Answer :-

« Progressive education /WY SR @T&ﬂ

Topic:- General Urdu(L1GU)
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Correct Answer :-
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Topic:- General Hindi(L2GH)

1) € IASTWT B DI A1 GBI AT B TG P TG ATRIS B 89X Tgd | RIS THIS! g T 8, IS0 AR aSH! | Hgdl fhdl| R a5 Yl Hgl Su! aral
TR S d; ARRISH & AT oft 3 RITR @ T sraaw Fiiarn 47| 98 ds! &1 [G@mar $dT| gag e 1l & 9o a8 9l T8 ARRISH &) 3R ST reed 3 r
FRd | el P F g ot S NTH-UTH TSHI BT SHUS T Tgdl| Hs AN cHeral B IWh B ab g A | AFRTSH Mifayde Jft &Y AT sraay e, w fadt
P ETY T T T e DI e H T AT 3R TH-UH TAT Uaed], A5 a9 3@ G el | 3R oY 3R wen &) dsfear WY 39 e & 481 & o Sge
ﬁluﬁ%ﬁﬁﬂﬁmﬂﬁmﬁmﬁlﬁgﬁfﬁﬁﬁéﬁ-mﬁmﬁmzﬁlWﬁmmmaﬁﬁmmwmfﬁfﬁ e @t
&1 fb & T &= feam

SUYTH T B YgHR A IR T U= $T SR TS
WR: ARG Seay &1 $ faga ur?

1. IWiad ot

2. $ad UH-U ol JACH

3. $ac Ma H [@HR

4. Haq Tifagde

Correct Answer :-

. SWiad gt

2) 3F AW FI Hig 481 BTl TS A T F TG ARG B 1R 7@ | AR GHS! 8 7T 8, A0 AR aSH! | Bgdl fhdl| R a8 Yl Bl Su! aral
WR & 3d; ANRIS & 7T S 3 RTQR | v sraaw Rsiarar 411 98 et @ faaman #var| Jag ugdl 96 & a9 a@ Tl ded AR S8R X aay S T
FRd | meht FE F aad ot 3D - TSHI BT FHUES T Tgdl| Hs AN cHeral B IUDb W ab g A | ATRTSH Mifayds Tt &Y =T sraay feaman, w fadt
P gTY T T T SrTaH B! Mg F T AT R TH-USH AT Uaed], ASS a9 3@PHT G eid | 3R oY 3R we &) wrsfear WY 39 e & 381 & o Sxga
ﬁluﬁﬁﬁﬂ%mﬂﬁmﬁﬁaﬂ%lﬁgﬁiﬁﬁaﬁaﬁ-wmﬁmaﬁlWﬁwwwaﬁﬁmmwmﬁfﬁ JrAaH @l
&1 ftb S 9T & feam

SUYTH TR B TG A IR T U BT SR TS
TT: TSI BT TYC fhd ToT TRRTS B B 3@l 4T?
1. T Y B

2. Al GaIg B! Ugell 9ol & o db

3. haq ot gl & Iad

4. g8 B! Ugel 6 F ToH a IR Seft 2t b Iad gl

Correct Answer :-

« g9 3T TSl Ul &b g9 a AR el Y F aad et

3) 3T AW B B T8 YDl 3o FA TG b TG ARG $I 4¥ Tgd | SRS THS! 81 7T &, I5T0WT AR TSH! & Bl fbedl| W d8P YAl B8l IS aral

TR S &d; ARRISH & AT oft 3 RIQR @ T sraaw FUsIaran 31| ag ds@! &t 3@ $dl| gag uged 4l & 9o d@ 9l T8 ARRISH &Y 3R $X /e 3@r
FRd | 3eht Y F aad ot 3D - TSHI BT STHUE T Igdl| Hs AN cHeral | IUDb W ab g A | ATRTSH Mifaydsd Tt &Y =T sraay feamar, w fadt
P gTY T T T SrAaH B g A T AT R TH-UH AT UAed], A5 a9 3@ G el | 3R oY 3R wen &) dsfear WY 39 raaw & 381 & o Sxga

!ﬁluﬁﬁﬁﬂ%mﬂﬁmﬁﬁaﬂ%lﬁgﬁiﬁﬁaﬁaﬁ-wmﬁmzﬁlWﬁwmamﬂaﬁﬁmmwmﬁfﬁ JrAaH S@dl
&1 ftb S 9w &= faam

I T B TGP 1 TR Y U BT I*R TS
TE: ITOTWT, TRRTSH S THel Hgdl § Fifs?

1. FRRTSH & UTH (e UT|

2. RIS & et G 3|

3. ANRTSH HeTd! BT ATl

4, RIS & defhal a1d ot At



Correct Answer :-

o FATRISH & U 3fdad UT|

4) 39 AW B BIS A8 USAT| 3T $d T b T ANRIGH $I 8 389 | VRIS THST 81 791 8, ISTUWT IR TsH! § Hgdl fihvdl | IR T5d el Hgl SHD! aral
R & 3; ANRTS & AT S A RITQR | U sraaw RUsiarar 411 98 o) @ fe@mar #var| Jag ugd! 896 & 9o a@ 9l ded AR S8R 6 aay aT
B | el P F g ot S ATH-UNH ASHI BT SHUES T Igdl| B3 AN cHferal § IWb B ab g A | AFRTSH Mifayded qft &Y AT sraaw e, w fadt
Y BT TET TR AT AT Bl Mg A TG AT 3R TH-UP UAT Udedl, TSP 99 WP G el | 3R 3R Fa ot wsfpar Wt 39 ey &1 @ & e 3xga
aﬁlmagsmaﬁmﬁsﬁ?smwﬁanélwmﬁaﬁ%a -RR A Sl o | RIS A SR geTe] sraed I T v aw asfeat sraaw et
&1 fb & aruw &= feam

SUYT T B TgHR A IR T U $T SR TS
WR: ST, ARRTSH S T Hgal I6dT 82

1. ATATH

2.9R

3. 3fTert

4, gHS

Correct Answer :-

5) 3(d AW FI HIg 48] BTl TS Fd T $ TG ARG B 1R 7@ | AR GHS! g 77 8, I6IWT AR aSH! | Bgdl fhdl| R a5 Yl Hgl Su! aral

TR 4T &; ARRISH & AT oft 3 RIQR @ ter sraaw FUsIaran 31| a8 ds@! & 3@ $dT| gag ugdl 4l & 9o d@ 9l a8 ARRISH &) 3R $ S/aed 3@r
Fd | el g F aad ot 3D TH-UNH TSHI BT SHUES T Tgdl| Hs AN cHeral & IUDb W ab gl A | ATRTSH Mifayds qft &Y =T sraaw feaman, w fadt
B ETY TE A 4TI ST B TG F T AT 3R TH-UP U Ueedl, TSP oF @D G el | 3T Y R & ) wsfepal ff 39 sraaw #Y 3@ F oY 3P

!ﬁluﬁ?ﬁagghmﬂaﬁmﬂaﬁvsm#ﬁﬁmmshﬁﬁaﬁaﬁ-aﬁm:ﬁm%ﬁlWﬁwwmaﬁﬁmmwmfﬁfﬁ JrAaH S@dl
&1 ftb S 9w &= feam

SUYe TN B TgHR 1 I T UK BT Sk 9a1sCl
LR R CA R I R R

1. 3T

2. dcqH

3. faqst

4. dad

Correct Answer :-

6) 3MF ISTWI FI HIg 48] BTl TS e T F TG ARG B 1R @ | ARG GHS! 1 T4 8, IIWT AR aSH! | Bgdl fhdl| R a5d Yl Hgl U aral
TR & 3q; ARIS & 7T S 3 RTR | U sraaw Rsiarar 411 98 de! @ fa@man #var| Jag ugd! 46 & 9o a@ Il ded AR S8R X aay S T
Fd | 3eht P F g ot 3D ATH-UNH TSHI BT SHEES T Igdl| Hs AN cHeral & SUDb B ab g A | ATRTSH Mifaydsd Tt &Y =T sraay e, w fasdt
B BTY E T aTI ST B Mg A TW AT 3R TH-UP U1 Uded], TSP 99 @B G i | 3R A R Fan #1 wrsfpal ot 39 sraew &Y 3@ & e 3xqe
mlm@mﬁmﬂmmmaﬁlmﬁaﬁaﬁ IR A STl | ARRISE A FaR agIe 3raad I 3911 W 9% dsfPal raaw q@dr
&1 ftb S arow &= feam

SUYTH T B TgHR A IR T U BT SR TS
W= ifer &1 faey w82

1. |

2. =i

3.3

4. Xftaa

Correct Answer :-

7) QAW FI Hig 8] BTl 3T A T $ TG ARG B 1R @ | AR gHS! g 71 8, I9IWT AR aSH! | Bgdl fhdl| R a8 Yl Bl Sus! aral
WR & 3A; ANRIS & |77 S 3 RTQR 3 v sraaw Rsiarar 411 98 de! @ famar #var| Jag ugd! 96 & 9o a@ Tl ded AR S8R X aay quT
Fd | eht Y F aad ot 3D TH-UN TSHI BT FHUES T Tgdl| Hs AN cHeral & I W ab g A | ATRTSH Mifaydsd Tt &Y =T sraay e, w fadt
P gTY T T T STaH B T A T AT R TH-UH TAT Uaied], A5 a9 3@PHT G el | 3R oY 3R wen &) wrsfpar WY 39 e o 381 & o Sxga
ﬁluﬁﬁﬁﬁmﬂﬁmuﬁﬁaﬂ%lmﬁaﬁaﬁ-wmﬁmaﬁlWﬁwwmaﬁﬁmmwmfﬁ JrAaH @l
&1 ftb S arow &= feam

IR TR B UEHR A T T U BT I« TS5
U A W e A A pi-1 82



raxh

2. dH
3. fag=h
4, dad

Correct Answer :-

8) 3| AW FHI FHIS TE UBT| TS FA TF & TS ANRISH H1 B 7§ | RIS THS) 8 741 8, 0w AR dsh! § Bgal fhar| IR asdb Uem Fef St arl

TR S &d; ARRISH & AT ot 3 RIQR @ te sraay FUSIardT 41| 98 ds! & @ $dl| gag ugel 4él & 9o a@ 9l T8 AR & 3R 3 e g r

PR | el T & aod ot 3P SMI-UNY TSH| BT STHUC A TgaT| FS G Ser A ITF W a9 g 3 | AVRIOH ifagde Tl S o1 ey fe@mar, w fadt

B FTY T T AdT| eH B Mg F T AT 3R TH-UH UAT Uded], dSs a9 ST G gid | 3R oY 3R wem &1 asfear o 39 sraay & 381 & forg Sxga
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